Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

8.8855+10°

9.0604 =102

7.0074 x 10°

8.6023 x 1072

9.5771 =102

3.4432 x 10!

9.8068 x 10°

5.3725 = 10?

5.6761 ~1073

8.7461 x 10V

9.8988 +— 10!

8.3143 x 10!

5.4328 x 10°

1.0933 + 107

4.517 =101

8.093 x 1073

1.1681 107!

5.1077 x 1073

4.5554 x 107!

4.7034 x 103
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

8.8855+10°
0.0088855
9.0604 1072
906.04
7.0074 x 10°
7.0074
8.6023 x 102
0.086023
9.5771 =102
957.71
3.4432 x 10!
34.432
9.8068 x 10°
9,806.8
5.3725 + 107
0.053725
5.6761 1073
5,676.1

8.7461 x 10Y
8.7461

9.8988 + 10!
0.98988
8.3143 x 10!
83.143
5.4328 x 10°
5,432.8
1.0933 = 10?
0.010933
4.517 10!
0.4517
8.093 x 1073
0.008093
1.1681 107"
11.681
5.1077 x 1073
0.0051077
4.5554 x 107!
0.45554
4.7034 x 10°
4,703.4

MatesLibres.Com




